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HARYANA SSC MOCK TEST-21 (Solutions)

1.(C)Rig : Ofd::Met : Jbq Similarly,
-3 4 ]~ | -3
LI:# - 4 2 1 3
' . R
6 4 3 5
2.AABDAC : FHEG::NPMO : RTOS
| +4 A T ’]‘ | +4 A 16. (B) Shortcut method:
+4 +4
+4 4 5 5
3 l 3 | . _ 75 (5P-0P)
Distance 6OX %5
3. (B)
4. (B) _ 75,24
5. (C) ~ 60 10
6. (D) =3 km
L] - N -1 M- M -1'1‘1‘
+2  JU[+2  J[[{+2 J[][+2 . 100
+2 +2 +2 +2 C.P.of 1 kgmix =Rs. | 17, x68.20
=5 =3 Rs. 62
| v v >
8.(C)48 82 44 77 40 72 36
L -3 N -2 M2 B
o . ) CPof 1kg CPof 1 kg
9. (D) Sophlsstlcated spemﬁzatlon spokeslperson of cheaper tea of dearer tea
(Rs. 60) (Rs. 65)

sportsman spreadsheet

Mean price

\ /
[<
A N M A (Rs. 62)
3 T \2

11.(A) s Shanti .
'&6"{? ~~~~~~~~~ o
&osgf ,,,,,,, & {{c:r (cheaper tea) : (dearer tea) =3: 2
Shé(;la wifey RamPrOthen, Rayj Sister ,.Beepa
| sister-in-law ) 18. (C) Let the income of A and B be Rs. 3x and
Sheela is daughter-in-law Rs. 2x respectively, then
12. (A) I. Nareen = Naveen 3x-1000 _ 5
II. Nakul < Nareen 2x-1000 3
III. Balaji > Priyanka > Naveen — 9x - 3000 = 10x — 5000
From equation I, II & III — — x=-2000
Balaji] > Priyanka > Naveen = Nareen > A's income = Rs. (3 x 2000) = Rs. 6000.
19. (C) Let the number be a and b.
eldest
then, a*> + b*> = 100 & a* - b*> = 28
Nakul .
On solving, we get a?> = 64 & b?> = 36
13. (D)

a=8,b=6

14.B) GRAM
=(a+ b) =14

15.(A) 3 5
+

6 7 4
2\1, +2\L +2\L +21, +2\L
) 7 8 9 6
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=6:4:3
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20. (D) Ratio of time taken = 5 : 5:

21. (A 2x—i—6

1
2 x—— |-
[x 4xj 6

1
X——= i
ax 3 squaring

4600 x 100
100 x4 +[(4—1)+ (4 —2) + (4 — 3)] x 10

22. (B)

4600 x 100 4600x100
= 200+[3+2+1x10 = a0 1000

23. (B) Let the number be (a -
then
(a-d)+a+(a+d =15
3a=15= a=5
(a-d)xax (a+d =80
(5-d) x5 « (5+d) =80

= (25-d) =16 = d*=9
d= 43
Number 2, 5,8 or 8, 5, 2
24. (C) Let the number of one-rupee, 50-paise

and 25-paise coins be 2x, 3xand 4x
respectively. then

d), aand (a + d),

2x+3—x+4—x=180
2 4

Ph: O955510888S8,

8x+6x+4x ~180

= 18x =720
= x =40
Number of 50-paise coins = 3 x 40
=120
25. (D) (21 - 15)m i.e. 6 m is covered in 1 min.

1
114 m will be covered in [gx 1 14] m= 19 min

26.(C) -+ x+y+z=0

x®*1 y?l z® =3xyz

a+2b+3c=0

(@) + (2b)®> + (3c)®* =3 xa x 2b x 3c
a’+ 8b® + 27¢c® = 18abc

A) x! 2043
P

[ R |

27. (

0 x°I[ %D(x/g)—?n/g
X
03J3-3J300

Now,

187 127 6 151 Y 1 D D Y 1[0
x'Ix Il x11=x H —SH H —SH
xPx0+x*x0=0+0=0
28. (D) (ad - bg)? + (ac + bd)?
= a?d? + b%c? —2abcd + a?c? + b2d? + 2abcd
= a?d? + a?c? + b2d?
aZ( CZ + d2) + b2 (CZ + dZ)
(@2 +Db?) (c2+d?) =2x1=2
29. (D) HCF of the given number
= 22 X 33 XSS
=4 x9 x25
=180
30. (C)

09555208888
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HARYANA SSC MOCK TEST - 21 (ANSWER KEY)
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